TECT 1.

I1POM3BOIHASL ®YHKIINU.

‘ "4" —gepHo svinoiHernvl S 6onpocos ;

Kpurepuu OuUeHKH :

"§" —sepro evinonnenvr 6 6oNpPoCcos ;

"3" —gepno svinonnensvr 4 sonpoca

"2" —gepno svinonnenvl < 4 8onpocos .
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omeemoas: bbbl
a)y' =3x" +27x_]0
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2. BeancimnTh IMPOM3BOIHYIO
OYHKIIU:




BapuaHmabl
omeemoas: bbbl






BapuaHmeb! gremm
TBET: B)
a) y' =6-sinbx
. 0) v = cosbx
o 8) y' =6-cosbx
s @l Y = 0 aosoy




4 .BrlunCciInTh, BTOPYIO
[MPOU3BOJHYID ®YHKIUU:
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5.BeunciInTe 3HAUEHUE
[MTPON3BOJIHONU B TOYKE:




BapuaHmabl
omeemoa:

a)y'(1)=6
0)y'(1)=34
oY (1)=2
'or)y(l)—— S




0.BbBUMCINTE CKOPOCTH TOUKU B
MOMEHT BPEMEHU T:




BapuaHmabl
omeemoa:

a) V(2) =11
6) V(2) = 35
o’ B V(2) =27
e T) V(2) =30




CIIACUBO 3A
BHUMAHMUE.




